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QUESTION 1

A storage administrator wants to enable NPV in a Fibre Channel edge switch. Which configuration is supported in this
mode? 

A. Cisco Fabric Services distribution over Fibre Channel 

B. E Port connectivity to the core switch 

C. local switching of east-west traffic 

D. Dynamic Port VSAN Membership 

Correct Answer: A 

 

QUESTION 2

An engineer is configuring a SAN environment and attempts to activate a zoneset, but a lock is held by another user.
Which argument does the engineer use to clear the lock from the zoning database configuration? 

A. commit 

B. abort 

C. clear 

D. force 

Correct Answer: C 

 

QUESTION 3

Refer to the exhibit. 

A user who is logged in as an operator cannot update the zoneset. What is the cause of this issue? 

A. The fabric is locked by admin on switch-2. 

B. Hard zoning is enabled. 
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C. Merge control is disabled. 

D. The switch has a conflicting domain ID. 

E. The fabric is locked by admin on another switch. 

Correct Answer: A 

 

QUESTION 4

A domain ID conflict is detected on a switch. Which action resolves the issue in the shortest possible time after the
preferred domain ID is changed to a static domain ID? 

A. Issue an fcdomain disruptive restart. 

B. Issue an fcdomain nondisruptive restart. 

C. Enter the commands for a VSAN suspend / no-suspend. 

D. Enter the commands to complete a domain manager fast restart. 

Correct Answer: A 

 

QUESTION 5

What is the effect of a non-graceful virtual machine shutdown on a virtualized server that is connected to a SAN with
Fibre Channel interfaces? 

A. NP Port reload connected to the upstream SAN switch 

B. out-of-service Fibre Channel interfaces on the SAN switch 

C. frames stuck in the storage system 

D. frames stuck in the HBA buffer of the server 

Correct Answer: B 
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